No| #f *TEk 215 =kG) = S
1| 18 BXERE x REAE BXKE 4H8H B 10:00
4 | FE1E BREAX= X NI BXARE 4H8H B 13:00
2 | ZE1E REE— X BAIX| RA%— 4H8H B 10:00
3| ZHIER BB X BIKRE | BBE— 4H8H B 13:00
10| EE3HA RBE— X NI RAEE— 4H8158 B 10:00
20| 5% BIEE X BAIX| RA%— 4H8158 B 13:00
6 | 28 REARE X RAEE— REAT 4R21H * 10:00
7| Z2E /N TIPS BEA REAT 4R21H * 13:00
8 | FE2ff BIEE X HEK=| BIl#KRE 4R 22H A 10:00
5| ZE2ff BAIX X BRKE| BIIKRE 4R 22H A 13:00
17| SE58T BRARE x HEXK=| BXAHE 48298 S| 10:00
11| ZE3E Y x AR BXARE 4R 29H B 13:00
9 | 3 BXERE x BIKRE | BRXKE 5A13H B 10:00
12| SE3Hd RRK= X BAIX| BRAE 5138 S| 13:00
13| ZE4ff N TIPS BXKE REAT 6A3R S|

14| ZEAEN BINBRE x RAEE— REAT 6838 H

16 | ZE4E BEATE X RERK= BEATE 6A38 S|

22| %E6HEN HERK= x FRE— | EBE— 6A178 S| 10:00
23| EE6E BEATE X NI FORE— 6R17H = 13:00
21| EE6E BEA x BXKE BEA 6A17H H 10:00
24| ZE6HN REARE X BINRE BEA 6A17H H 13:00
28 | ZET7HEA BRAIX X AR REAT 6H23H * 10:00
26 | ZET7HEA BEA x REXK= REAT 6H23H * 13:00
25| ZET7HEA BXEXE x FAE— | BXXE 6H24H H 10:00
27| ZB7HEA mi o x BINBRE | BRXE 6H24H A 14:00
29 | ZE8H REAAE X BXRAE REATE 7A158 = 10:00
30| ZE8fH BERAIX X REE— REAT 7A158 = 13:00
32| ZE8fH wmi o x REK=| ®MRLEE | 7A16A A 10:00
31| SE8HEN BI#BE x I RMUESR | 7A16H A 13:00
15| EE48T BBAIX X BEA FEUH 7A198 X




*FEK =15 =RD) R | B5HE
BXERE x 7 BAIX| BXXE 7A218 * 10:00
REAX= x 6 BIKRE| BREXE 7A218 * 13:00

BEA x 5  #M FEUH 7H228 A 10:00
FOE— x 8 REAE FEUH 7A228 A 13:00
FROE— x 3 KN FEUH 8A9R N 10:00
Wil x 8 A FEUH 8A9AR N 13:00
BEA x 7 EAIXE BEA 9A28 S| 10:00
B/IEE x 5 b BEA 9A2AR A 13:00
FRE— x 1 BRXE| FRBHE— 9A9AR A 10:00
RERK= x 8 AR FEE— 9A98 S| 13:00
BIEE x 1 BRKRE| BIKRE 9A16H H 10:00
mi x 2 FAE—| BIKRE 9A16H S| 13:00
BRATE x 4 HREX= | RALEE | 9A17H B 10:00
REATE x 3 REA | ERMUESR | 9A17H A 13:00
A X 2 RB¥—| RBHE-— 9822H T 10:00
RREAX= x 1 BXXE| RBHE— 98228 T 13:00
BEAT x 5 MW RERTE 9H23H B 10:00
BRATXRX x 6 BIKRE REAE 9A23H S| 13:00
REERK= x 3 KR RS 98248 )= 10:00
BEATE x 7 BEAIXE AN 9A24H )= 13:00
FRE— X 4 BRRKR=| EBE— 9A29H * 10:00
BIEE x 8 HEAMHE REE— 9A29H x 13:00
BXAE x 3 HEA BXERE 9A30H = 10:00
NI X 7 BBRIX| BXFXE 9A30H H 13:00
RBE— x 6 BIKRE| RBFE— 10878 = 10:00
BXAE x 5 #W FRE— 1087H = 13:00




